Rechnen mit negativen Zahlen - Dezimalzahlen
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Aufgabe 1

Berechne.
a) (+6,55) + (—5,86) = b) (+9,78) + (=6,16) = ) (+5,81) — (+1,19) =
d) (+8,17) — (+2,35) = ) (+1,76) + (—1,05) = ) (+5,26) + (=193) =
©) (1842 + (-167) = h) (+112)+ (-T04) = i) (+6,09) — (-325) =
) (+3.24) — (+5,48) =

Aufgabe 2

Berechne.

a) (—0,551) + (—0,036) + (+0,674) = b) (—0,186) + (—0,218) + (~0,234) =
) (~0,281) + (—0,079) + (=0544) = ) (—0,908) + (—0,032) + (+0,806) =
€) (—0,934) + (—0,002) + (—0,058) = £) (=0,985) + (—0,002) + (~0,001) =

£) (=0.280) + (=0317) + (=0,203) = h) (+:0,843) + (—0,645) + (—0,758) =

i) (~0,022) + (—0,240) + (—0,675) = j) (—0,681) + (—0,081) + (—0,123) =
Aufgabe 3

Berechne.

a) (+391) — (+11,49) — (+3,97) = b) (=5,14) — (+5,39) — (+6,35) =

©) (+18,54) — (+17,14) — (+7,82) = d) (—11,24) — (+1,14) — (+7,5) =

€) (—15,82) — (+0,06) — (+1,03) = ) (~10.80) — (+3,52) — (+0,56) =

) (—130) — (+328) — (+442) = h) (—3,93) — (+5,26) — (+1,58) =

i) (—14,88) — (—347) — (+2,14) = ) (—11,06) — (+1,332) — (+5,01) =
Aufgabe 4

Berechne.

a) (+0,28) — (—0,18) + (+0,19) — (+0,85) =
b) (—0,92) + (—0,02) — (+0,02) + (—0,03) =
c) (—0,87) + (—0,01) + (+0,24) + (—0,22) =
d) (=0,19) — (+0,16) — (+0,26) + (—0,09) =
e) (+0,92) — (+0,98) + (—0,36) + (—0,02) =
) (=0,59) + (—0,02) + (+0,67) — (+0,93) =
g) (+0,89) — (+0,74) + (+0,29) + (+0,25) =
h) (=0,73) + (—0,02) — (=0,17) — (+0,03) =
i) (+0,61) — (+0,37) + (—0,24) + (-0,21) =




